5-3 & LTS
(1) AF2HEE RERDN
VAR EA DI 'Y A0S s
e N (HEAZ - T-H)
X g2l R AR e (%) a4 (%)
1 A be Bl ES I Ay 15, 693, 469 100. 0 106. 9
1 = ES I Eh 12, 033, 342 76. 7 91.9
1 A 7 I & 7,867, 274 50. 1 87. 2
2 4k PS I EAy 3, 493, 359 22.3 98. 2
3 M = F =B 504, 658 3.2 155.0
4 = o M E FE I 1 168, 051 1.1 87.6
2 E ES F I Ehy 3, 424, 869 21.8 216. 2
1 = WA B &k O E 4 & 1 0.0 100.0
2 M = F = £ R 837, 817 5.3 98.5
3 JiE Hifi B & 9, 165 0.1 111.9
4 R i lil) 4 2, 039, 545 13.0 4, 680. 3
5 K M o#i % & K A 1 17,083 0.1 84.0
6 T o flt E % 4 I & 148, 258 0.9 90. 6
T = EFH oM B & 373, 000 2.4 74.9
3 K il 1 Ay 235, 258 1.5 H 4
1 = o M % Bl F 2 235, 258 1.5 by




tH (HEAZ - T-H)
X o2 R AR e (%) a4 (%)
] £ * 2 A 14, 963, 201 100. 100. 5
= ¥ e A 14, 136, 697 94, 98.6
1 A =2 # 8, 154, 954 54. 101. 6
2 M s ¢ 3,297, 378 22. 92. 1
3 # 1, 980, 902 13. 100. 5
4 P il {1 H) # 661, 905 4, 94. 7
5 & PE I8 *E # 8, 428 0. 88. 2
6 A 7e A & # 33, 130 0. 70. 4
= ES g 7 M 591, 246 3. 106. 2
1 KHFE K OV 2 18 Bl i 9,079 0. 69. 1
2 tk H g E H H 23, 838 0. 95. 4
3 4 i 24 558, 329 3. 107. 6
53 Gl B IS 235, 258 1. ko
1% fi Ko B K 235, 258 1. kg
¥ i 2 0 0. -
17 D # 0 0. —




A BEARAIA KOS

e N (HEAZ - T-H)
X g2l R AR e (%) a4 (%)
1 & %N Y I A 357,919 100. 0 67. 1
1k ES f& 296, 800 82.9 93.3
1 A4 ES f& 296, 800 82.9 93.3
2 Al lily & 43, 443 12.2 L g
1R i il & 43, 443 12. 2 ki 4
3 % BF & 16, 476 4.6 1,277.2
1 it & 16, 476 4.6 1,277.2
4 B O & &K OE & 1, 200 0.3 kg
1 B & & K& OB & 1, 200 0.3 ko
Xt (g = 1)
X w2 R AR e (%) a4 (%)
1 & N Y X s 1,042, 636 100.0 105. 1
jeis B4 i |23 # 369, 609 35.5 112.6
1 i B i B 2 5, 980 0.6 6.6
2 e &' O OAN & 363, 629 34.9 153. 4
2 & g O B & 669, 427 64. 2 101.5
1 & %X @& #H E & 669, 427 64. 2 101.5
3 B F & 3, 600 0.3 100.0
= ¢ F & 3, 600 0.3 100. 0

4 7T i 2 0 0.0 -

1 7 Y # 0 0.0 —
EARBIUAFEN G AR S BRI R LR R T H800%. WP EE B RE S THitE L
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(2) A 3EE PEHEOBITRRI
7 AR K OV

kA Gz : T
ES o) T ERA IWAFERE | BITE (%)
19 e = ES I i 14, 900, 000 6, 369, 989 42. 8
1 E ¥ I A 13, 795, 395 6, 143, 765 44.5
1 A 7 I G 9, 448, 390 4,293, 301 45. 4
2 4 P I Ea 3, 645, 972 1,738,198 47.7
3 f = FF A #H & 504, 454 0 0.0
4 = o f E X W & 196, 579 112, 266 57. 1
2 = ¥ eAs I A 1, 104, 604 226, 224 20.5
1 =% B A B K O Y 4 2 0 0.0
2 i = 3 =W R 849, 627 0 0.0
3 JiE i i)y & 11, 854 152, 885 1,289.7
4 K i i) & 40, 987 0 0.0
5 K H miox @& B A & 28,176 0 0.0
6 O M E ¥ 4 W & 173, 958 73, 339 42. 2
3 KF il 1 it 1 0 0.0
1 = o M KB K 4R 1 0 0.0

(4 FI34E9 H 30 H Bi7E)




(A7 . T1)

ES o2l T ERE S [BUTE (%)

bt ¥ # H 15, 400, 000 6, 478, 654 42.1

F A 14, 938, 370 6, 286, 596 42.1

e 5. 2 8, 207, 271 3, 524, 756 42.9
% s 2 3, 722, 046 1,703, 160 45.8
% # 2, 275, 488 1,043, 184 45.8
3 18 H 2 656, 769 0 0.0
% PE I #E 2 22, 550 446 2.0
B 7e At & 2 54, 246 15, 050 27.7
ES 4 # ! 456, 629 192, 058 42.1
XALF R e OV S8 Bl ig & 5,512 2,998 54.4
" B SCA - S ¢ 26, 645 17, 445 65.5
HE #H ES 410, 472 171, 614 41.8
BB & O H R B 14, 000 0 0.0
#H % 0 0.0

z o f K oB H\H Ok 0 0.0
fisi 2 5, 000 0 0.0

¥ i # 5, 000 0 0.0

(4 Fn34E9 A 30 H BiME)




A BEARBILA KOS

" A (i 1)
ES b2 TERH AR [T (%)

1 & EN £ I A 400, 000 1, 140 0.3
J ¥ f& 400, 000 0 0.0
TS ES f& 400, 000 0 0.0

2 & BT & 0 1, 140 e

1 % Bt & 0 1, 140 e 4
(3429 H 30 H BLfE)

X Cfir 2 1)
ES b2 TERH IR [PUT=R (%)

1 & %N Y 53 H 970, 403 343, 786 35. 4
1 & B4 g B # 434, 150 9, 260 2.1

1 i B4 i |23 2 21, 647 3,012 13.9

2 EOB O O OAN #® 412, 503 6, 248 1.5

2 & %X &‘ @EH B & 532, 853 334, 126 62. 7

1 & % & ®# & & 532, 853 334, 126 62. 7

3 = F & 2, 400 400 16.7

1 = F 4 2, 400 400 16. 7

I fi # 1, 000 0 0.0

1 7 T # 1,000 0 0.0

(4 Fn34E9 H 30 H BAE)




